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QUESTION 1

Which one of the following choices will assign the current package Library1? 

A. package::Library1; 

B. Library1::package; 

C. package(Library1); 

D. package Library1; 

Correct Answer: D 

 

QUESTION 2

Which one of the following choices uses the correct syntax for a valid array assignment? 

A. @cities = Akron, Memphis, Ogden, Phoenix; 

B. @cities =~ ("Akron, Memphis"); 

C. @cities =~ (Akron, Memphis, Ogden, Phoenix); 

D. @cities = ("Akron"); 

Correct Answer: D 

 

QUESTION 3

In Perl, modules are used for which task? 

A. To organize packages 

B. To provide code reusability 

C. To separate code in a file 

D. To create separate namespaces 

Correct Answer: B 

 

QUESTION 4

Consider the following program code: 

@array = ("ALPHA", "beta", "GaMmA"); 

@array = sort(@array); 
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print("@array"); 

What is the output of this code? 

A. beta GaMmA ALPHA 

B. ALPHA GaMmA beta 

C. ALPHA beta GaMmA 

D. beta ALPHA GaMmA 

Correct Answer: B 

 

QUESTION 5

Consider the following program code: 

@array = ("ALPHA", "beta", "GaMmA"); 

@array = sort(@array); 

print("@array"); 

What is the output of this code? 

A. beta GaMmA ALPHA 

B. ALPHA GaMmA beta 

C. ALPHA beta GaMmA 

D. beta ALPHA GaMmA 

Correct Answer: B 
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